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Corrigendum/Explanation SFG 2025 Level 1 Test 37

There are no changes to the solutions/answers. Explanations in one question have been provided
for the students who have raised doubts.

Q.4) There was a doubt raised with respect to Statement 2 i.e. “They (neutrinos) are the most abundant
particles that have mass in the universe.”

Explanation- Statement 2 is correct. Photons are the most abundant particles in the universe but
photons do not carry any mass. Statement 2 of question 4 asks about the most abundant particles that
have mass in the universe. The neutrinos are overall the second most abundant particles in the
universe after the photons. But unlike photons, neutrinos have mass. So, the neutrinos are the most
abundant particles in the universe that have mass.
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